Ureecte W, ;
ol y/
e -

Th E =
T ‘ n"'15 20 GPa
@ im + (,L %o"f
e r(12) ; X() 3
% * a2t Cin, wy.nd g
g o pie | SR AL
® l t E T = 32000 kPa 1
| \
3 | ""é‘ S inh [W%] 370 S ne
CLEBSLHOoVA METU DA 7E ;
o : Z -
X (BN F SO :i 324:00 [7‘//{'~*42 ¥
plx) » L5 5 . 15(x-5)
X>3 Y 4 + 2 'g_ —-’/5~Z]—
r = o B
£ d 3 i 3)7 . 65625107 red
s X78 )z
e o ‘ tx=3)’ PRt e g ]
ls/ [C g)(,Zx/f/Z s ffé-f_ 0%
2%
r23 x?f
Dkr?o«al ,Dodm,u'mé -'
W = W/X‘3 = . s -
b )=0 = ezf.ZC, ¢ 75 =0 b ﬁfﬂ)u
W, = wix=7)= 3 e
d x=7)=0 9 ¢, *t7¢ 707 =0 T




